Zjednodusujeme vyrazy
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1. Zjednodus$ vyrazy:
a)2t+5t+8t—10t= Hd f)—6m+(—10n) —(—35m)—n=-Cm s Ow 154 -n/
b) 8x + 7y — 10x + 5y = ~2X +1 g) (du+Tv) + (= Tu+4v) = =3y T4 1~
¢) (4a - 5b) + (6a— 7b + 10) =100 ~12b4/O h)3a—-5+22b+ 2,5a+3+7b = 55 +92b -2
d)4.2a—53b—6,la-7b == f9ar =743k )(2b+3)-(5b-4) =Zbt3-bb+kt=-3p+7
e) (14a - 5b) + (16a—7b + 0,2a) =502as -—ﬂhj)—(5x—4y+7)—(—7y+x—-9).-.-5'>\+1-f3-?+?-a—)(43

=-06Xx Mar +&

2. Odcitaj: .
a) (1.5x— Ly + 1.7) — (= 17y —x+22) 24X~ 4417 + ¥y +Xx-42= £Tx 403 -05
b)(2b+3c—4)—(5bk4c)=°Zb+3c-’/*bibr?clj_jj,+72§; 7 T

¢) (14a - 5b) — (16a + 7b + 0.2a) = fhov —bb ~Toaw ~76 )24 = ~22o/=f2b

d) (4a— Sb)— (6.5a— Tb— 10) = bov-5b —GIas 170 t/0 = f45ja/ +2b+10
e)—6m—(—10n-5m)—n = —Gm/ 10w +5m /= - +Im/ ¥
f) m+(—10n)—(6n—5m) = ~ 10w —Cn thmu= Gy - 1o/ #
g) —10a—(7a+42b—1,1)+(~4.2b+ 1.1)+8a = ~/0as F -4 2 +,7 ~H2b 417 b=~



